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1.1 - Linear Polynomials and Graphing Linear Using a Table

A. Vocabulary
Monomial: An expression that s a number, a variable, or numbers and variables multiplied together.

Mﬂnomlals only have variables with whole number exponents and never have variables in the denominator of

a fraction or variables under roots. 7./
Monomials: _l\io_t_Munomials: \@
4 - =
X', 3 , XY, SKfj ;etkr‘n .
Polynomial: A monomial or several monomialslomed by + or — signs. OLMM
5 L}
"}‘59?:,,@5 b x*-2.x L3 xt
-‘re"
Vocabulary: -

Constant: 3 , . Ll
Coefficient: et
x #FIn front o | )

g D€ e‘wﬁm X=| X=X

Terms: Sepe_ra)&i blj 4+ er — Sﬁjns

. Like Terms: -h) MU-Q sa,n'l,e lqe,bhys m Scng .QMQMI\P
.*you tun add ke  teyns

gpomial: z | .l.e,yms

Trigomials: 3 Wms %
standard Form: 5{-ﬂ,¥4— W/bljje‘gl— mgmn.{' and 30 d,ﬂ'wﬂ .

Examples: 1) Decide whether each expression is a palyqomlal Ifitisn tI= explain why not.
2) Write each exp}ession in standard form.

a) 2x3+6x+5x" b) —%a a c) ——5 NO d) 6 +c—1" no
Y& i 252 " |eder in neqative
v
gyt +2>(51-'£n % 3@ Aanominato -zgfblwﬁ'
e) 623 45282 f} 7 | g) —-8n—3 h) 3Wx+2

no yes . ves e

©
W“QF M . i = n-3 VN*“’DE;,‘{MW
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Subimet maans add H opposite

B. Adding and Subtracting Polynomials
To add or subtract polynomials, combine like terms. Add or subtract the coefficients. The variables and

exponents do not change. Remember to subtract everything inside the parentheses after a minus sign. .
Subtract means “add the opposite,” so change the minus sign to a plus sign and then change the signs of all

the terms inside the parentheses. "&VW\/

Examples: Simplify each expression and for a,b, and ¢ write in slope-intercept form.

o) (51-2)+(1-3n) o) (45 ) +(2x+51-6)
2n+5S /X-5
Wu-2{T2450)47 ) )G+ 5m)-{Thr 2] + (70

— -1y timn —(om

e) Find the perimeter in terms of x. (B3x-2) ft.
a-d_J- all ;423 Hyts (4 + 5)

“ax-2

AxS FAkES t3x2 + 3x-2
| Qix + ) 4

a) Maribel mows Iawleshe charges 6 dollars per lawn plus and hourly rate of 10 dollars. If it takes her an hour
and a half to mow your lawn how much should she charge you? '

C hoas Wich chowoes = o+ 10X 5
R R S - o e O #2

C. Solve each story

0 -

b) This soccer season, Dakota scored 4 more ‘than twice the number of goals he scored last season. He scored
7 goals last season. How many goals did he score this season?

) @E‘Wi‘ﬁﬂ%ﬂ G = 2 t=1%
\
L 406 her o o = M+ 247 "

D. Slope-intercept form
Rewrite equations in slope-intercept fnrnl by solving for ﬂ Leave answers as simplified fractions.

:"‘.‘;;‘”‘f:‘,_ o ) y-2 =30) Slope intercpt fom
- - = 5x-\0 =mx<$b
hfﬂ_431x+fqt,3 ' 7 +\_?3_ 2 N
17 + Z slee V. Q)

= 5 -1
SRR
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E. Solve for y given x and Evaluate functions

PEMDAS & Rewambel

Solve for y gmﬂu..t he value of x. Leave answer as a fraction. f_\
' a) y=—4x+7 for x=-2 b) 6X=9y =30 for.x=3

3= 4(2)*T
e

Evaluate EHCM Leave answer as a fraction.
1

a) f(x)-—x =5, f(3)

L= -3-'._-7?. 5
= .%--5 =

-\7

F. Graph Linear Equatinni Using a Table .

sl
y Sl +S & BIF
x | f()= 1.¢+5 f(x) | (e, f(x)
u=x+rgy 9B
2| —2+8 |3 |(~
® -t Tf{-&_.-
a +rS S 05
1 ?*'5 o Clg
2| 2+vS |7 1 (2:7)
3:%&4—0
X _Lap S S
g‘{'{x, AT
15 | gL = -2 l
10 | £e=2=-2| -2 | fmi0,-2)
5 | L.-S=-1| -\ (-5,-1
0 | “Re0=0| O (Ca!as
s | 2ef=t | [ (5]
10 | 2e8= 2 |Z | Q2
5| g=2=3 | B[ (153

AT X
:..,ﬁ__h',' Tt ad -
‘?/TF"" { !';0 ‘ 1

(o(3y-4y =30

1g-44 =3

=18 =l 5

b) F(x)=9x+2, f(%)

-FC‘zL):_ﬂ;Ji ¥ 7

| _-__(swr:z

gl

i 'r"/ y

e

2 _._I |,_: 1] ARV 'E"i"i

[BEREES S 4 !

A

CTTT LA dnunay g
. M n' 4. E j E’l * }‘

A ‘! = -} S SR B 1
AR

Lt
1

Slope:

| 5[:93:1;‘&&,_ l

\)

y-intercept:

5

y-intercept

O
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1.2 Notes - Quadratic Polynomials and Graphing Quadratic Polynomials using a Table

A. List all the parts of the polynomial.

1. —9+4x*-3x

Standard form: All coefficients: Degree of the polynomial: .
HE3 p— 9 4,3, -9 2
Leading coefficients: Constant: Type of equation: U
L
4 -9 Quadpafic

B. Simplify Quadratic Polynomials by adding and subtracting.

[‘M—_E_lj-e—_’_}i] 2. L-'{f -ﬁ+ﬂ+[ﬁ?+5x—’§)
i 7 Lol G T e = e 0
_ Zl’} +-S : d sz'l"'z“X'S'_ I ¥
3. (o vsm) T zm)';@/_?m] s [,354 —/c)@é‘ 1}'5)*@’ +5d)
| Sim? ] < Zed S-S =T

C. Mu]tip_iy.Pc-]}fﬁumials using the distributive property. Simplify and write answers in standard form.

O it i gpyram 24
— m*=8m

L —5wW —ZH_J v

f; _—51@.3}

- {3(?2(1%—2} | ISXE L xtSK—2 Ha (- 3p reweite 11 (Z@
15x% —X —2 i X%~ lox —ix +4
MRS 3 6 -2+ 482 \L_"fr'“"*'q i
" SaRte e
oX-4
7. Find t ca g in terms of x. Write answer in standard form. '
(3x+2) fi. Areg = L_, .

-8 | Cq@i)

Ak BX Uk =l
V1= lox—1 (o
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D. Solve for y,

. —4x* -9y =27 ~) -y
Yy Y2 ‘ﬁz y—2=%(r-:4)\"4/ 3 _j
2-Ux-yxHbL TN
o LR ? X A
o e 8 BT 3 3
"1 y2=gEmRe) 4
| . 4
| = -73:'& =5 e 2.x% X +'2
E. Solve for y given the value of x. J $a 1 +2 '_F_;__':’:_ ‘ £ 14
| - ) 7PEMDAS Y '\5 e i
. y=4x"+3 for x=-2 2, =5y-x"=18 for x=3 o
=4GR 3 2=
|3 :‘:,!41 "5'3—‘? :}8
F. Evaluatefunctions.
X ; 70 —E f":.:?
1. f(x)=5x%—4, f[] 2 '—-S-é-ifg 2. f(x]-—x I f(3)
_]. -
C) 5( 4
”‘ 5
ﬁ’: #5 =%
G. Make a table forgach equation. Grapheach equation. FDI) e

N
W What does the -3 do to the graph

1. f(x)=x*-3
when compared to the parent graph

L x flxy=x"=3 f(x)

) 2 ety | |
(D" = fz |-z
©3° fo=F-3 |3
7\ ~2)

(V) ° |[F)= =3 I

_.\..\.-
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sl oprst®

2. f(x)="(x+3)+1

X

F(x)=x+3) +1

)-2

L= 4L

£ (i)= -1(—1@‘+i

L=~ (D

13
(D=1 (243!

3. f(x)=3x*-5

f(x)=3x"-5

3y-5

What does the negative(-) do to the
graph when compared to the parent

graph y=x""7
reflecied 0V X—0495

What does the +3 do to the graph

Y -5

when compared to the parent graph

= ey 2

What does the +1 do to the graph
when compared to the parent graph

Pl UP 4

What does the 3 do to the graph
when compared to the parent graph

7= verried Strewh
of 2

3(0)-5

3(DH*5

What does the -5 do to the graph

3(2)-5

when compared to the parent graph

4. f(x)= —%{x -2)?

X

f@=-3G-2

P \ 5

What does the negative(-) do to the
graph when compared to the parent

graph y=x?

-2

-5 (23

reflest ower x ays

-4 (13

What does the % do to the graph

-J (o-?bz

=3 (-2)

-5 (2

ol

when compared to the parent graph
= xz 9

VBY’nCd.Q Shrinlc btf -

What does the -2 do to the graph
when compared to the parent graph

r=x7 Rigt o
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1.3 Notes — Cubic Polynomials, Graphing Cubics, and Combining Functions

A. Simplify and write in standard form.

1. (5n’ +3)+(7n' - 4) 2. (__;,_(—1%5}1_%‘ H+1gh)

7n>F Sn*| —18x3 —7x +|
3-,(7529 +?4H(12%3)+(—3jf) 4._(@/@%—#5_5)4-% -_4_£+E)
Qw?_(, ~233 +4ab <P "

each polynomial using the distributive property. Write answers in standard form.
1. =3h(=2h" =%h+4) 2 e -5)( b £b-6)

O, %”g{;ﬁm

ml b +30 j

\ §
py _ a3 g N
3, {4@) o G (42%“’“‘“ '
S @z-3)(42*)(423)
r =
\1{34“3(0)4 Y~ 18y 2xy “
42> 182>
-qez* ¢1LT
C. Volume 5&1‘5' "'2*7
1. Find the volume of the rectangular prism with a length of (x- 3); a w1dth of (:Ej-ﬁ and a he1ght of (x+2)ft.
[ eave your answer in terms of x. {:05 L~
» (-3t ) X
e} ﬁ-D (%3 ) ,
j; X2g2x-3X-
¥-5 52 )'(1__,&..@ ;
| X%~
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D. Graph each cubic equation by making a table.

I_ 1. f(x} = xJ' —4
x fx)=x*-4 J(x)
2 | C2y’H o 3
1 3 —
0 fﬁ"p— q -
1 __1.! -3
21 @)r-4 |

2. fix)={x+38)
i Sf(x)=(x+5)

2 "C",f,;’%‘s
5 & -§+9)%

-4 T -4+5)3
3 (=3+5)°

a, f(x]=r%x’

Tl orw=—s

S = .,l,- =z
-1 hlf-: A
0 ~\j2 [ 0)2
1 -\rﬂ_ f

2 - \'lz‘__g'

What does the -4 do to the graph
when compared to the parent ®

graph? y= g

Down Y

What does the +5 do to the graph
when compared to the parent

graph? y =X Le -P-l-' S

What would happen to the parent
graph y=x" if the 5 was negative *

Rt S @

What does the negative do to the
graph when compared to the

parent graph? y =x’
reflest over x-axs

l
What does the = do to the graph

when cnmpared to the parent
graph? y= i

veskical shrink by Yo

What would happen to the parent
graph y = x° if the coefficient was

a whole number instead of a
fraction?

Serical shreh @
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E. State whether the table is linear, quadratic, or cu bic.

D . CuolG 2 binear % mmhc‘ a. Cuor(s

x | fix) X | fix) - x | fix) x | f(x)
2 | -22 2 | s --:;2 2 | -3 6 | -8
1 | -8 1 | 392 -1 [ o0 Bl =
o [ -6 0 | 122 o | 1 4| 9
1 1 142, 1 | o K
2 10 2 342 2 3 2 8

|

_{ 15
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1.4 Notes — Long Division

1. Review l.!
a.3x2‘(§:}1) b. _{_f+£.‘5—1_:1_—_-£}_) -}ZB_x_z -}=6x:}_5} c X ﬁ: 4x3
bx*-3x* =23+ 12 -5
) i
d. I5x-E=20x* e 2x-|51=—2x3
a.420 + 24 i : ¢. 6669 M%
24)H20 23 4615 o wcﬂ 22| )
160 22.
16 :l .
iz '35
|7 . . 132
24 o \\"[ /o S ' 33
P T S e.9853 + 63 8524 +56 )
o 15l 152
AR AT 563524
4ut (o2 2 ls‘(, z v
3:;% 285 :z‘u
g 315
i o3 [ 52 2| }lzl“
g _375:; > —=)
Z &_
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3. Things to remember when dividing polynomials:

O a. Just like long division with numbers
b. Must be in Standard form
c. Add a zero in place of any missing term. |
d. Remainders

3. Examples:

x*—9x-10
a ———

3 —5x" +10x=3
x+1 b

= it i O x’;%-'-l B
KRV RE-F =D 3xtl ) BKE 5K 10%
=X éffhuﬂeSIJl) - 3X3 X
—10X-10 — +
4o +\0 +f.o¥- < 7_54
O — 12X -
| x=10] xZpd -1\ —lax ¥
| 3;(1-\ o -7
()
¢ (2% —9x% +15)+(2x~ 5y { d. (1+2x+3x" +4x*)+ (t1+x+2)q£ —3C _—’
x*=2x=3 K +“‘*‘2-W+3x +0X+2xt |
2%-5 29 x> +OKHIS o ophndegt
- Lx4 85X T K- XX
“Hy, + 0% 334 )42 %
iy FIOX i =7k U
—\ox+1S | T2 Fhetlt
() 25 - | ;c=-+>c+2
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1.5 Combining Functions

1) Review

ﬂ]l'(xz+3x—-_j)+(x -4x2 5) b]{@) F:OII—.
X' 3x2“+-3x - '5x1+y-3:_o_x—l2
add \ike tfermy sxz_lgx -\
- \S
. :i—s X-2. Y X%y Ix-5 X+\0 +ﬁ
—X* +2% e B
6i-5
— lox+20
- S

)

2) Find an algebraic expression for r(x) using the given functions. Simplify if possible,

. ¥ weile answes \n
Examples: Let f(x)=3x-5, g(x)=x*+5x—2 and h(x) =+/x -1. Perform the indicated operations. %
a) r(x)=(f+2)(x) :.F(@\-SCXD b) r(x)=(f-2)(x) = .F @-ﬁ(&)
0= QEDY D) T (3x3) + 1K)
red)= x> +8x-7 - 2 . -

mud ¥

o r(x)=(gh(x) = 30‘) h&)euj d) r(x)= ( ) ;P}T((% 'Dl\llde.

V)= 0&@\3 C0d= 3x5.
= \

XK =¥ 53K =5% 2t 2.
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3) Evaluate each of the fullowmg using the given functions. SHOW WORK|

7 . REampaR e f(x) VX=2, let g '[ )-—-x +3, and f?{x}:— Evaluate the following.

a) f(2)+2(1) f(3 ~g{-3} -a+3
T () - Q)

-143) | + Gl =
8 - o

—

6_"\3(3' T

- —2(-22) _
— = _____.-—""'-_" e
22—\ —-l—-u! 5 G
35 5 12
4] Find the indicated composition function and its domain using the given functions. SHOW WORK! L' !.‘ -} -‘g
L 4d- 5

O Examples: Let f(x)=3x-5, g(x. =x, h(x)=x"—4, and k(x) =
a)r x) = yr(x)=(foN)(x) = -F(FQED_,FGK_@ ks
r@-rea = 5 (49) flw) e e e et

Plug g6 Into funchen + =
Fomames| | rorfB)s jm,l
r® QK—IS =
o r(x)=tog)(x) = R (3@ KH") d r(x)=(kk)(x) = K [ttx?-) K (&3

s s Z
re) - \ I"CSL)" ""2.
x

) r(x)=(ho g)(x h[g{x‘b \, C.{-)

® ri= 6@52"‘* = %4
E‘ (%) = X-4
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